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Catch It

Catch It Maths challenge

The fruit is made of three different parts: the skin,
the flesh and the seeds. Each part is a different
colour, these are:

Pink yellow black

How many different combinations could the
fruit be?
E.g. yellow skin, pink flesh, black seeds

Extra Challenge

Look at the meerkats at 1:08 in the clip.
There are eight of them. If each of these
meerkats had a baby meerkat back in the
burrow, how many would there be
altogether?

What about if each of the eight meerkats
had two babies back in the burrow? How
many meerkats would there be altogether
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